Карточка №1
7 ∙ 5 =                       пат

9 ∙  4=                        дель

49 : 7 =                     кор                Слово ________________________

35 : 7 =                     силь

10 ∙  5 =                     фин
Выберите четные ответы и составьте из них слово.

Карточка №2

450 + 100=            о

500 – 10=              к

400+200=              у

700-150=               о                  Слово ________________________
24+200=               с

450-50=                т

670-90=               н

Поставьте ответы в следующем порядке: 3  6  2  4  7  1  5
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№ 1.

126 + 764 – 416 =

№ 2.

475 – (269 + 135) – 8 =

№ 3.

577 – (164 + 244) – 75 =

№ 4.

1000 – 256 – 370 =

№ 5.

200 – 6   4 – 158 =

№ 6.

400 – 254 – 20 =

